Education Region (Total Allocation)	Cluster Name	School Name	School Roll	Contribution to cluster FTTE based on school roll	Base LSC FTTE generated by cluster (A)	Whole FTTE by school	Remaining FTTE to be allocated across cluster	Additional Resource (Travel Time/Rural etc) (B)	Total LSC for the Cluster (A + B)	Networking Grant rate (for each LSC FTTE)	Total Networking Grant by Cluster	Travel Grant rate (for each LSC FTTE not directly allocated to a single school)	Total Travel Grant by Cluster	Total Grant
		Alfriston College	1,066	2.13		2						,		
		Everglade School	438	0.88										1
		Greenmeadows Intermediate	448	0.90										
		Manurewa Central School	528	1.06		1	1 .			44 = 00	440 = 00	4	40.000	4.0.00
	Alfriston Kāhui Ako	Manurewa East School	345	0.69	9		4	0	9	\$1,500	\$13,500	\$1,500	\$6,000	\$19,500
		Randwick Park School	629	1.26		1								1
		Reremoana Primary School	423	0.85										
		The Gardens School	556	1.11		1								
		Churchill Park School	428	0.86										1
		Glendowie College	1,258	2.52		2	_	•		64 500	¢0.000	64 500	£2.000	642.000
	Glendowie Kāhui Ako	Glendowie School	613	1.23	6	1	2	0	6	\$1,500	\$9,000	\$1,500	\$3,000	\$12,000
		St Heliers School	638	1.28		1								1
		Beachlands School	600	1.20		1								1
		Botany Downs School	532	1.06		1						\$1,500		
		Brookby School	117	0.23										
	Harrist Constitution Labor	Clevedon School	397	0.79	10		4	0	10	¢1 500	ć1F 000		\$6,000	¢31 000
	Howick Coast Kāhui Ako	Howick College	2,117	4.23		4	4	0	10	\$1,500	\$15,000		30,000	\$21,000
		Howick Intermediate	467	0.93										
		Howick Primary School	306	0.61										
		Maraetai Beach School	401	0.80										
	Kõtuitui Community of Learning	Arahoe School	701	1.40	7 8 5 0 1 1 1 1 1 1 1 1 1 1 7	1								
		Fruitvale Road School	287	0.57										
		Glen Eden Intermediate	1,040	2.08		2								
		Green Bay High School	1,427	2.85		2								
Auckland		Green Bay Primary School	652	1.30		1			14	\$1,500	\$21,000	\$1,500	\$10,500	
		Kaurilands School	703	1.41		1	7	0						\$31,500
		Konini School (Auckland)	421	0.84			1 ′	U						
		Laingholm School	294	0.59										
		New Lynn School	328	0.66										
		Oaklynn Special School	156	0.31										
		Titirangi School	434	0.87										
		Woodlands Park School	367	0.73										
		Horizon School	152	0.30										
		Kaipara Flats School	118	0.24										1
		Leigh School	59	0.12						1				
	Mahurangi Community of Learning	Mahurangi College	1,522	3.04	6	3	2	0	6	\$1,500	\$9,000	\$1,500	\$3,000	\$12,000
	Waltarangi Community of Ecarning	Matakana School	359	0.72			_	· ·	ŭ	\$2,500	\$3,000	\$2,500	\$5,000	\$12,000
		Pakiri School	11	0.02										
		Snells Beach Primary School	251	0.50										
		Warkworth School	478	0.96		1								
		Al-Madinah School	547	1.09		1				1				
		Auckland Seventh-Day Adventist H S	246	0.49						1				
		Jean Batten School	431	0.86						1				1
		Mangere Central School	463	0.93						1				
	Mangere Kāhui Ako	Mangere College	677	1.35	7	1	4	0	7	\$1,500	\$10,500	\$1,500	\$6,000	\$16,500
		Nga Iwi School	363	0.73										
		Sir Douglas Bader Intermediate School	204	0.41										
		Viscount School	573	1.15		1								
		Zayed College for Girls	119	0.24										

Education Region (Total Allocation)	Cluster Name	School Name	School Roll	Contribution to cluster FTTE based on school roll	Base LSC FTTE generated by cluster (A)	Whole FTTE by school	Remaining FTTE to be allocated across cluster	Additional Resource (Travel Time/Rural etc) (B)	Total LSC for the Cluster (A + B)	Networking Grant rate (for each LSC FTTE)	Total Networking Grant by Cluster	Travel Grant rate (for each LSC FTTE not directly allocated to a single school)	Total Travel Grant by Cluster	Total Grant
		Bailey Road School	451	0.90										
		Ellerslie School	749	1.50		1							\$3,000	
	Maungakiekie Community of Learning	One Tree Hill College	1,149		7	2	2	0	7	\$1,500	\$10,500	\$1,500		\$13,500
	iviadinganienie Community of Learning	Panmure District School	113	0.23				Ů	,	\$1,500	\$10,500	71,500	\$3,000	\$13,500
		Stanhope Road School	509			1								
		Sylvia Park School	503	1.01		1								
		Birkenhead School	444	0.89										
		Northcote College	1,083	2.17		2								
	Northcote Community of Learning	Northcote Intermediate	507	1.01	6	1	2	0	6	\$1,500	\$9,000	\$1,500	\$3,000	\$12,000
	Northcote Community of Learning	Northcote School (Auckland)	415	0.83	0			0	U	\$1,500	\$3,000	\$1,500	\$3,000	\$12,000
		Onepoto School	62	0.12										
		Willow Park School	614	1.23		1								İ
		Mt Richmond School	169	0.34							\$6,000	\$1,500	1	
		Otahuhu College	882	1.76		1								
	Ōtāhuhu Community of Learning	Otahuhu Intermediate	350	0.70			2	0	4	\$1,500			\$3,000	\$9,000
		Otahuhu School	479	0.96		1	1							
<u> </u>		Panama Road School	221	0.44						1				
	Decelous Community of Learning	Edmund Hillary School	194	0.39	6 4									
		Kelvin Road School	432	0.86			1							
		Kereru Park Campus	183	0.37			2			64 500	¢c 000	64 500	64.500	640 500
	Papakura Community of Learning	Papakura High School	675	1.35		1	3	0	4	\$1,500	\$6,000	\$1,500	\$4,500	\$10,500
		Papakura Intermediate	156	0.31										
		Redhill School	214	0.43				ĺ						
	Pukekohe Community of Learning	Ararimu School	125	0.25	5 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1					\$1,500	\$16,500	\$1,500	\$9,000	
Auckland		Bombay School	335	0.67										
		Buckland School	269											
		Mauku School	139					0						
		Paerata School	153	0.31					11					
		Paparimu School	27	0.05										
		Parkside School	140											
		Patumahoe Primary School	262	0.52			6							\$25,500
	r anchoric community of Ecurring	Pukekohe East School	154	0.31			1	-						\$23,300
		Pukekohe High School	1,783	3.57		3	- - - -							
		Pukekohe Hill School	660	1.32		1								
		Pukekohe Intermediate	710			1								
		Pukekohe North School	234	0.47		_								
		Puni School	194	0.39										
		Wesley College	362	0.72										
•		Mangere Bridge School	380	0.72		1								
		Marcellin College	498	1.00	1	1	1			1				
		Onehunga High School	1,001	2.00	ł	2	1		1	1	1			
		Onehunga Primary School	430	0.86	ł		1			1				
		Oranga School	362	0.86	ł	-	5		1	1	1			
	Te Iti Kahurangi Community of Learning	Royal Oak Intermediate School	437	0.72	4 9	-		0	9	\$1,500	\$13,500	\$1,500	\$7,500	\$21,000
		Royal Oak Intermediate School	565	1.13	ł	1								
			196		1		1							
		St Joseph's School (Onehunga)	_		1		-	i					į į	
		Te Papapa School	257	0.51	ł	<u> </u>	1		1					
		Waterlea Public School	411	0.82										

Education Region (Total Allocation)	Cluster Name	School Name	School Roll	Contribution to cluster FTTE based on school roll	Base LSC FTTE generated by cluster (A)	Whole FTTE by school	Remaining FTTE to be allocated across cluster	Additional Resource (Travel Time/Rural etc) (B)	Total LSC for the Cluster (A + B)	Networking Grant rate (for each LSC FTTE)	Total Networking Grant by Cluster	Travel Grant rate (for each LSC FTTE not directly allocated to a single school)	Total Travel Grant by Cluster	Total Grant
		Homai School	338	0.68										
		Manurewa High School	2,123	4.25		4								
		Manurewa Intermediate	813	1.63		1	_	•		64 500	642 500	ć4 F00	64.500	640.000
	Te Kaahui Ako O Manurewa	Manurewa South School	362	0.72	9		3	0	9	\$1,500	\$13,500	\$1,500	\$4,500	\$18,000
		Rowandale School	573	1.15		1								
		Wiri Central School	365	0.73										
		Helensville School	487	0.97		1								
		Kaipara College	832	1.66		1								
		Kaukapakapa School	264	0.53										
		Parakai School	196	0.39										
		Waimauku School	730	1.46	6	1	3	0	6	\$1,500	\$9,000	\$1,500	\$4,500	\$13,500
		Waioneke School	86	0.17		-								
		Waitoki School	150	0.30										
		Woodhill School	29	0.06										
		Colwill School Massey	193	0.39										
		Lincoln Heights School	392	0.78				3 0 7					\$4,500	
	Te Kāhui Ako o Tiriwā	Massey High School	1,599	3.20	7	3								
		Massey Primary School	524	1.05		1	3		7	\$1,500	\$10,500	\$1,500		\$15,000
			291	0.58		1								
		Royal Road School	467	0.58										
		West Harbour School						 						
	Te Kāhui Ako o Waitakere, Waitakere Community of Learners	Birdwood School	228	0.46				İ						
		Henderson Intermediate	642	1.28	15	1								\$33,000
		Henderson North School	364	0.73										
		Holy Cross Catholic School (Henderson)	423	0.85									\$10,500	
Auckland		Liston College	863	1.73		1		0		\$1,500	\$22,500	\$1,500		
			500	1.00		1	7		15					
		Ranui School	350	0.70										
		St Dominic's Catholic College (Henderson)	882	1.76		1								
		St Paul's School (Massey)	405	0.81										
		Summerland Primary	662	1.32		1								
		Waitakere College	1,392	2.78		2								
		Western Heights School (Auckland)	648	1.30		1								
		Glen Eden School	340	0.68										
		Glendene School	160	0.32										
	Te Whānau Mātauranga o Kerehana Community	Kelston Boys' High School	690	1.38		1	1							
	of Learning	Kelston Girls' College	454	0.91	6		4	0	6	\$1,500	\$9,000	\$1,500	\$6,000	\$15,000
	or Learning	Kelston Intermediate	338	0.68										
		Kelston School	296	0.59										
		St Leonards Road School	500	1.00		1								
		Aorere College	1,524	3.05		3								
		Kedgley Intermediate	742	1.48		1								
		Papatoetoe North School	800	1.60	9	1	2	0	9	\$1,500	\$13,500	\$1,500	\$3,000	\$16,500
	I	Papatoetoe South School	541	1.08		1						•		
		Papatoetoe West School	665	1.33		1								
		Koru School	582	1.16		1			İ					
		Mangere East School	559	1.12		1								
		Robertson Road School	527	1.05		1								
	Whakatipu Akoranga Kāhui Ako	Sir Keith Park School	165	0.33	8	<u> </u>	2	0	8	\$1,500	\$12,000	\$1,500	\$3,000	\$15,000
		Southern Cross Campus	1,440	2.88		2								
		Sutton Park School	502	1.00		1		•	1	1	, ,			l

Education Region (Total Allocation)	Cluster Name	School Name	School Roll	to cluster FTTF	Race ISC FTTF	Whole FTTF	Remaining FTTE to be allocated across cluster	Resource (Travel	Total LSC for the Cluster (A + B)	Networking Grant rate (for each LSC FTTE)	Total Networking Grant by Cluster	Travel Grant rate (for each LSC FTTE not directly allocated to a single school)	Travel	Total Grant
		Hobsonville Point Primary School	580	1.16		1							,	
		Hobsonville Point Secondary School	628	1.26		1								nt by Ster
	Whiria Te Tangata Community of Learning	Hobsonville School	542	1.08	9	1				\$1,500	\$13,500	\$1,500		
		Huapai District School	518	1.04		1							\$6,000	
Auckland		Marina View School	732	1.46		1	4	0	9					\$19,500
		Riverhead School	403	0.81										
		Taupaki School	234	0.47										
		Waitakere School	472	0.94										
		Whenuapai School	351	0.70										
Total	-		79,787		162	91	71	0	162		\$243,000		\$106,500	\$349,500